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PART A: Grammar & Voeabula

. ry
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then
mark the answer on vour answer sheel.

#1— These discoveries were made at a ~—--———e—— early date.
V) surprisingly vy morally v) directly - f) immediately

#Y- TV commercials help to ....... demand for new products by convincing watchers that they can't
live without them. : : i) iy _
\) conclude Y) generate - Yinform ¥) recognize

#¥='1 must —————— for keeping you waiting, we have been so busy this morning. =

“ . V)convert Yycheck . - ¥)apologize co e W) SUEPEST - S

£¥- 1 didn't say I couldn't ---—-——————- the politics, just that I didn't like them, he answered.

. Yyrevolve - Yyapply “¥) bandle ) carry

#& -Though I had lent him some money, he didn't pay me, —-—-———n- ?

" vhadl v)ydidn't I ¥) hadn't 1 ¥y did he

##-The manager told her that only if she --—--———-- the bill immediately, he ~---——— the police.
V) paid / didn't call Y) pay / won't call ¥) would pay / didn't call ¥) paid / wouldn't call

V- He spent the whole evening searching the web for photos of ---—--—-—-- people.
1) wise ¥) famous ¥) available ¥) natural

#A-To a foreigner, the system seems complex and ——-——eeeer,

) V) peaceful Y) immediate t) confusing f).accidental

#4- She wasn’t feeling fine, That’s ---—--—--—-- she didn’t go out last night.
\y when ) what v) how ) why

Y+~ The boy's knee was bleeding when he arrived home. He -—--—-———- gver,
\) was fallen Y) had fallen ¥) would fall ¥) has fallen

A e — do you spell "passport"? B: 1 don't know.
vy Where o Yy Who i ) How ty When

VY- If it was natural to Helen to ask such questions it was my --—--—---————— to answer them.
Vycondition ¥) duty vy effect ¥) identity



PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Cancer’is not a new illness. It has been around for thousands and thousands of years.
Plants can get cancer. Dinosaurs probably had it.
People often think of 'cancer' as one (73) -—--—-----—---- with one cause, like flu. This is
not quite right. Cancer is any illness that results if the body's cells grow out of
control. There are lots of different kinds of cancer. DNA damage is the cause of most

cancers. Things that can damage DNA (74) -—--—--—--- chemicals in cigarette smoke,
and ultraviolet (UV) light. People (75) ------=---m —- have an unhealthy diet are more
likely to develop cancer.

It took a long time for doctors to start treating cancer, (76) --------—-- -—- treatment
has developed quickly in the last fifty years. In 1%53 Francis Crick and James Watson

worked out the structure of DNA. Since then scientists have begun to study and
understand the causes of cancer, and to invent new treatments. At the moment
scientists are making new discoveries about cancer nearly every week.

yr-\) disease Y) virus Y) epidemic ¥) vaccine
Y¥-\) complete Y) contain ) include ¥) spread
vb-v) when vy who vy where ¥) why
V#-\)s0 vy then Y)or ) but

PART C: Reading Comprehension

Directions: Read the [oﬂowing two passages and answer the questions by choosing the best

choice (1), (2), (3), or {(4). Then mark the correct choice on your unswer sheet.

Rainbows are often seen when the sun comes out after or during a rainstorm. Rainbows are
caused when sunlight shines through drops of water in the sky at specific angles. When
white sunlight enters a raindrop, it exits the raindrop a different color. When light exits
lots of different raindrops at different angles, it produces the red, orange, yellow, green
blue, indigo, and violet that you'see in a rainbow. Together, these colors are Eﬁowy__j_Lw
spectrum. These colors can sometimes be seen in waterfalls and fountains as well.

Did you know that there are double rainbows? In a double rainbow, light reflects twice
inside water droplets and forms two arcs. In most double rainbows, the colors of the top
arc are opposite from those in the bottom arc. In other words, the order of colors starts
with violet on top and ends with red on bottom. in addition, rainbows sometimes ap¥ear as
white arcs at night. These rainbows are called moon bows and are so rare that very few -
people will ever see one. Moonbows are caused by moonlight (rather than sunlight) shining

through drops of water.
v¥-The good title for this passage is ---------——-.

1y Moonbows at Night v) The History of Rainbows

) The Basics About Rainbows ¥) Normal Rainbows and Double Rainbows
vA-Rainbows are produced when -—---ermmmmem,

1) light exist many raindrops at not the same angles ¥) the sun is the main cause of a rainstorm
) the sun comes out after a storm t) the spectrum causes a rainstorm

¥4-Which of the following, according to the passage, is NOT true?

\) Spectrum colors sometimes appear in fountains and waterfalls.

vy Double rainbows are two rainbows that are exactly the same.

) Rainlbows are usually seen after or during a storm.

) Moonlight is the cause of producing moon bows.

A--What color is a moonbow?

V) the passage doesn’t say ¥) yellow ) green ¥) white
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